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1. The recent tax reform of the US will cause Taiwan’s short-run equilibrium output
level in the AD-AS model to increase.
2. Suppose that unemployment results from the minimum-wage law. Other things
equal, the higher the labor-force participation rate, the higher the unemployment
rate.
3. Inthe IS-LM and AD-AS models, an increase in the expected inflation rate causes
both the short-run equilibrium interest rate and equilibrium general price level to
rise.
4. Consider the market for loanable funds. Other things equal, the domestic
investment increases when people value future consumption more.
5. Suppose that the money supply remains fixed. Other things equal, the value
of money increases with the interest rate.
6. According to the PPP theory and AD-AS model, other things equal, the
currency of country A appreciates against that of country B if the natural rate
of unemployment of country A rises.
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7.  The IS and LM curves for the economy have the following equations:
IS: Y=A4-50r
LM:Y=5M/P)+50r
where Y is real output, 7 is interest rate, 4 is autonomous speﬁding, M is nominal
monetary aggregate, and P is price level. Suppose that P=1 .0, 4=250, and M=20.

(a) (4 47) Find the equ111br1um real output and the equilibrium interest rate.

(b) (4 43) What are the equ111br1um real output and equilibrium interest rate when the

- price level P changes to 2.0?

(c) (4 57) Plot the IS-LM dlagram and the aggregate demand (AD) curve based on
your answers in (a) and (b).

@@ @A P1gou Effect is introduced into this model by allowing the autonomous
spending 4 to become price-dependent. We now have:

IS: Y=4-50r
IM:Y=5M/P)+50r
A =140+ 60/P
~ P=1,M=20
Find the equilibrium real 6utput and the equilibrium interest rate.

(¢) (4 53) Continue from (d). Find the équilibrium real output and equilibrium interest
rate when the price level P changes to 2.0? Is the AD curve in this case ﬂatter or
steeper than the AD curve without the Pigou Effect? (Note: AD curve has prices on
the vertical axis and real output on the horizontal axis)

8.  Consider the following growth model, where Y is output, X is capital, 7 is
investment, S is saving, L is the number of population (or labor), and E is the
efficiency of labor. The capital depreciation rate & and the saving rate x are
constant. - | ‘ | ‘ i_}.h__‘

Kin=(1-0)K:+ 1 (capital accumulation) ,»;;,’ :
L=8=xY: (investment = saving) 2
Y, =K/*(E,-L)" (production function) | ,:':
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(@) (5 53) Based on the production function, write the output per-capita (y = Y/L) as a
function of capital per-capita (k = K/L) and efficiency of labor (E).

(b) (4 57) Suppose that the capital depreciation rate is & =0.05, saving rate is x=0.1,
and the population size is fixed (i.e. no population growth). Derive the
steady-state capital per-capita (k) as a function of the efﬁcwncy level E. Derive
the steady-state output per-capita () as a function of £.

(©) (4 77) All conditions in (b) remain the same except that the population growth rate
(n) is n=3%. Derive the steady-state capital per-capita (k) as a function of the
efficiency level E.

(d) (4 73) If the growth rate of the labor efficiency is 6% per year and the population
growth rate is 3% per year. What is the growth rate of the capital per capita (k) in
the steady-state? What is the growth rate of capital (K) in the steady-state?

9.  Consider a two-period model in which each individual maximizes his lifetime
utility U, with C) and C, being the consumption levels in the first and second
periods, respectively. The individual has income Y in the first period and no
income in the second period. Let » denote the interest rate. All variables are in
real terms. Suppose that the utility function has the following form:

-y

U +C,

In the ﬁrst:period, the individual saves S and consumes C;:

S =Y-(
In the second period, the individual consumes the principal and interest on its
saving:

G =(1+r) S

(a) (5 47) Derive the individual’s saving as a function of ¥ and r.
(b) (5 43) Suppose the government starts to levy lump-sum tax 77 in the first period
and gives transfer payment 75 to individual in the second period. Revise this
" individual’s life-time budget constraint and derive for the saving function.
(¢) (5 57) Continue from (b). Suppose the interest rate remains unchanged. When the f _.N
govemnment raises 71 and reduces 7, how wwould C; and S change? ‘




